Entries / 12 MeV/c?

1000

800

600

400

200

-2<p <3 GeV/c

D’ - K &+
and charge con;.

T
-+

Pb-Pb, s, = 2.76 TeV

Centrality: 0-20% ]

1 =1.863% 0.003 GeV/c? ]

6 =0.017+0.003 GeV/c?

S (30) = 538 + 84 ]

e by v by v by by by by
1.75 1.9

Invariant Mass (Kr) (GeV/c?)

Entries / 15 MeV/c?

300

250

6<p<8 GeV/c

+.

[T =, = M R T

u = 1.868 £ 0.002 GeV/c?
6 =0.017 % 0.003 GeV/c?
S (30) =342 + 48

Pl
1.75 1.85 1.9 1.95

Invariant Mass (Kn) (GeV/c?)

Entries / 24 MeV/c?

50

40

30

20

[ 12<p<16 GeV/c

1 = 1.862 + 0.005 GeV/c?
6 = 0.023 + 0.005 GeV/c?
S (36) =67+ 15

175 18 18 19 195
Invariant Mass (Kn) (GeV/c?)




